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SECTION B Applied Ecology 

Answer ALL
_
parts of the question. 

2(a) The graph below shows the mortality of a species of freshwater shrimp after it has been exposed to various 
concentrations of two fat-soluble pesticides, A and B, for 24 hours: 
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(i) (1) Determine the concentrations of pesticides A and B at which 50% of the shrimps were killed. 

(2) Deduce which pesticide, A or B, was more toxic.

(1 mark) 

(2 marks) 

(ii) To further study the toxicity of pesticides A and B, the shrimps were exposed to either pesticide A or
B at a concentration of 5µg L- 1 for 4 days. At the end of the study, the concentrations of
pesticides in the body tissue of the shrimps were determined.

(I) 50µg kg - 1 of pesticide A and 80µg kg - 1 of pesticide B were found in the body tissue of the
shrimps. Suggest three possible reasons why there was a higher concentration of pesticide
B than pesticide A in the body tissue. (3 marks) 

(2) Why was a concentration of 5µg L
一

1 adopted for the pesticides used in the experiment? 
(1 mark) 

(iii) A field survey was conducted to investigate the concentration of pesticide A in the body tissue of
herbivorous fish and carnivorous fish. What difference in the concentrations of pesticide A would
you expect to find between these two types offish? Explain your answer. (3 marks)
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